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APPENDIX 4. Detalls of Calelations of - )
II Prediction of oversll degieo of success 1.o. POcB grend -total percent (yT) from a stendardized tent in
English (T, and stendardized test in Methematics (r)
2 2 '
N
T, T, , o ' T, rea‘n ¥p
1 352 4107 6296 122722 52541 76948 18246
T, 52541 76948 1560536 724563 1023242 217622
T, < 12pTeR 2564234 1093242 1560336 355947
Tﬁ 56702782 21499022 33840454 6726085
T‘E ’ 10651857 14578802 2837860
T T ’ 21499022 4196512
352 am 6206 120722 52541 76948 . 18246
1 11.6676136554  17.8863656364  548.5420454545 149.2612045455 218.60227272753 51.8352272727
) 4622.,11C7 %0 £486,704545 128463.119314 111534,911950 125442 . 465906 4734.721590
1 7547860057 27 .79317178C5 24.1307309516 27.1596492792 1.0243654997
T476,5%0177 272221517107 -710.422402 89355 ,873120 6018,707493
1 %8.4116067956 -, 0050241726 11.9490549320 8050458795
4345125150 106978.9474 273912,0218 14018,4975
1 2465179029 5306795536 0522774453
71509,14260 5321039241 ~2748 .053060
1 0744106145 ~.(534295946
; $2947 77803 ~1158.315452
- : 1 - 0351560415
{ :
(1} b = = 035156041E.
TBTII

b +b (.0744108145) = ~.0384295946
6 TeTn

b2 = «. 035815419
[

. B

ng'(.PAGSﬂQOZQ) + by n {.68C5795536) = .0BRRT74438
emn -

b’i‘% -

byﬁ = 0632711244 . i

N

Pp_ + P2 (36.4116067956) - by? (.0950281726) + b, , (11.9490549520) = 8050458795
a*n

i

b’l‘ = ~1.0820790924

n . N

b, b, (7547880087 ' + b, o {27.7931717505) + b_o (24.1307309516) + b (27.1596492792) = 1.0243634997
Te Tn Tﬁ 'l% TeTn .

-G

bT = 1.8000228692 l
8

o+ b.‘:e(ll.66761565643+b1.n(17 .8865656564)%5548.6420454545)ﬁTg(149.2642045455)4bT ¢ (218.6022727273) = 51.8352272727
e en

g .
.

¢ = 59,98235068020

i

Yo 1.90092266927 . 1.0820790924'I'n + .0652711244'1‘5 - .0558134119T§ - .0351560415?(.‘8‘1‘n + 59.9823306050
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(11)

bTez = ~.0384293948

s

b2 ¢ bp (.2463179029) = .032277443%
Tn Ta

b2 = .417482912
Ty .

b, +b 2 (56;4116067956) - b2 (-0950241726) = 8050458795
Tﬁ Tn . 'J.‘e

b’.l‘ = =.7185461475
n

—

bn s an \.7547860057) + bp2 (27.7951717808) + b2 (24.1307309518) = 1,0245634997
LI n e

b = 1.3358620838
Tq -

T

¢+ by {11.6676136364) + by {17 .8863636364) « ng'(548.6420454545) + b2 (149,2642045455) = 51.8552072727
a K n n a

¢ = 40.3070755478
7y = 1.5538620886T - 71854614751 + .04174329121': - 038429594615 + 40.3070755478

(141) b, = .os2er74es5

n

i

by + b (56.2116067956) = . 050456795
n T .

b, = -.5702276945
Tn

by + by (.7547860057) + bpp (27.5981717805) = 1.0243634997
n n
by = 4067136560
-
e+, {11.6676136764) + ., (17.BB65656564) + b2 (548.6420454545) = 51.8352272727
e “n n

o = 42.4563027358

yT= .‘108'73.;'656()5[‘e - .5?02276945Tn + .0522’!74455T§ + 42.4586027658

(1v) by = .B0L 2458795

n
b 5 = 1. -
T, * an{‘ 7547880057) = 1.02456%4997 P .

c ‘;)T = 4167261359

&)

e
o + by {11.6676136364) + by (17.88656363564) =~ = 51.8352272727
-] g3

¢ = 52.5736845888
yT = .416726135%6 + .80504"'8795Tn + 52.5736843808

by = 1.0243654907
a

e + by (11.8676136364) = 51.8352272727
-]

= 58.8835497350
Vo= 1,02405549971, + 59.8635107550

dy
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II Prediction of overall degres of success i.e. PScE grand total percenﬁ (yT})

from a standardized test in English(T,) and stendardized test in Mathe-
- maties (Ty;)
2

2
(1} The fitted regression .of (yr) on T, Tn’ Tn’ Te’ 7T is

¥p = 1.9000228697 -1,082079002T + 06827112472 ~ 0856154121
-.055156042T, T+ 59.982530603

Reg. S.8.= (1.900922869) (217622)-(1.082079092) (335947)+(.063271124) (6726085)
~{.055813412)(2857860)-( .055156042) (4196512 ) +(59.9682330603 ) (18246)

~{18246)

352 -
= 956079.77 - 945785.56
= 10294021
(41)  The fitted regression of (yp) on T, T, %, 12 1s
y§ = 1.553862980T - 7185461467 + 04174529117 - .05842969515+40,507075548

REg. S.8.= {1.333862989) (217622)-{.718546148) (555947) +{ .041745291) (6726085)

- 0388429395 (2857860 +(40,307073548) 18246)-(18246“)2
: : . 352

= 10253.49
(111) The fitted regression of () on T, T,, T 19

v =,406713656T° - #370227694T + .0522774451‘2 + 42.458602786
T e n ¢

n

Reg. S.8.= (.406713656)(217622)~(.370227694) (335947 ) +( 0522774453 )(6726085)
" {42.458602786) (13246) - nggg_g)z

- " 352

955933 .45 - 945785.56
10147 .89

"

{iv) The fitted regression of {yp) on T Tn is
Yo =.416726156Te+.8050458801'n + 32.573684389

Reg. S.S.= (.416726136)(217622)+(.805045880) (555947) .
. +(52.573684389) (13246)-(182486)

A 352
= 955480.97 - 945785.56
= 9695.41
(v)  The fitted regression of {yp) on T is
¥, = 1.0243635007, + 39.885349735 ' T
' 2
Rog. 8.8.= (1.0243655003(2176.22%(59.885549755‘)(18246)-(153_&@
S 52

= 950835.63 - 945785.56
= 4850,07



